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Mon 3rd  
N-S
1st
Paul Q & Janne Roos
62%
2nd
Tomas & Sally
55%

E-W
1st
Gerard & Derek
57%
2nd
Jean W & Dave C
57%

Wed 5th 
N-S
1st
Bob S & Olaf
58%
2nd
Tomas & Nick
57%

E-W
1st
Ole S & Popiov K
60%
2nd
Paul B & Dave C
59%

Fri 7th 
N-S
1st
Jean W & Hallgeir
59%
2nd
Terje Ly... & Bjorn A-H
56%

E-W
1st
Bob S & Olaf
62%
2nd
Terje Lic... & Anne
59%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
What Hand A it’s favourable vulnerability, partner opens 1♥ and RHO doubles, what do you bid?
♠ 1075
♠ K1093
♥ J1054
♥ AK953
With Hand B LHO opens 1♣ and partner overcalls 1NT 

♦ 5
♦ 863
(a)
What do you bid?

♣ 98654
♣ 3
(b)
Suppose you transfer with 2♦ and partner bids 2♥, what do you bid now?


Hand C
Hand D
With Hand C RHO opens 1♣, what do you bid?

♠ AJ76
♠ 10

♥ J7
♥ AKQ654
With Hand D partner opens 1♠ and you bid 2♥. Partner rebids
♦ AK4
♦ 107
3♣, what final contract should you be looking for?
♣ QJ107
♣ KJ72

Bidding Sequence Quiz
E
1♣
1♠
pass
pass

1NT



How strong is 1NT?
F
1♥
dbl
3♥
What is 3♥, invitational or weak (pre-emptive)?

G
1♥
dbl
2NT
What is 2NT, natural or something else?

Missing the 4-4 ♠ fit




Board 21 from Friday 7th Jan
Only two N-S pairs out of nine found the 4-4 ♠ fit on this deal: 

Dealer:
♠ K1093



Table A
North
♥ AK953

West

North(B)
East

South(C)
N-S vul 
♦ 863

-

pass

1♣

1NT
(1)

♣ 3


pass

2♦
(2)
pass

2♥
pass


3NT
(3)
all pass

♠ 852

N
♠ Q4

♥ 10842
W
E
♥ Q6

Table B
♦ J52
S

♦ Q1097

West
North(B)
East

South(C)
♣ 862


♣ AK954


-

pass

1♣

1NT
(1)

♠ AJ76

 
pass


2♦
(2)
pass

2♥
♥ J7




pass

2♠
(3)
pass

4♠
♦ AK4


all pass
♣ QJ107





Table A:
(1)
What did you bid with this South hand C in this week’s quiz? Double, because you have a 4-card major, is a poor choice and a descriptive 1NT is best.

(2)
What did you bid with this North hand B(a) in this week’s quiz? This North chose to transfer which is acceptable if you have no other treatments to show 5-4 in the majors.

(3)
What did you bid with this North hand B(b) in this week’s quiz? This North went wrong here, he has to show his ♠ suit in case there is a 4-4 ♠ fit.

Table B:
(3)
With no other agreement, this is generally played as showing 5 ♥’s and 4 ♠’s.

And what happened? 4♠+1 twice, 5♥+1, 3NT+2, 3NT+1 three times, 3NT+ twice.
The bottom lines:

· Opposite a 1NT overcall it’s best to play systems (Stayman, transfers etc.) on, just the same as if partner had opened 1NT.

· Now let’s discuss 5-4 (or 4-5) major suit game-going hands opposite 1NT (ignore the 1♣ opening bid). There are a few possibilities and established partnerships need to agree what they play; here we assume 5 ♠’s and 4 ♥’s.
(a) 1NT - 2♥ - 2♠ - 3♥
This is a simple option, but I play it as showing 5-5.

(b) 1NT - 2♣ - 2♦ - 3♠
This is the traditional approach, forcing of course.

(c) 1NT - 2♣ - 2♦ - 3♥
This is Smolen, a supposed improvement as opener is always declarer.

(d) 1NT - 2♣ - 2♦ - 3♦
This is a Quest transfer, a vast improvement on Smolen assuming that you do not use this sequence to show 5+ ♦’s and a 4-card major.

· Quest Transfers and Smolen are explained in the NT bidding book and on the website.

Blackwood with a minor suit agreed

Board 24 from Friday 7th Jan
Dealer:
♠ 9764



Table A
West
♥ 9

West

North
East(D)
South
Love all 
♦ KQ9632

1♠

pass

2♥

pass

♣ 65


3♣

pass

4NT
(1)
pass
5♠
(2)
pass

7♣
(3)
all pass
♠ AK532

N
♠ 10

♥ 107
W
E
♥ AKQ654

Possible Auction
♦ A5
S

♦ 107

West
North
East(D)
South
♣ A1043


♣ KJ72


1♠

pass

2♥

pass

♠ QJ8

 
3♣


pass

4♦
(1)
pass
♥ J832




4♥
(4)
pass

4♠
(5)
pass
♦ J84


5♣
(6)
pass

6♣
(7)
all pass
♣ Q98





Table A:
(1)
What did you bid with this East hand D in this week’s quiz? Obviously you should be looking for a ♣ slam and this pair (unfortunately) had no agreements other than Standard Blackwood.
(2)
Three aces
(3)
East has no way to know if partner has the ♣Q.  All the aces are present and 7♣ seemed a good bet (partner may have it or else it’s on a finesse). As it happens 6♣ would have got an outright top as nobody bid the small slam.
Possible:
(1)
It’s best to play either 4-of-the-suit or Kickback (4 of the suit above) as RKCB when a minor suit is trumps. This 4♦ bid is RKCB  for ♣’s playing Kickback.
(4)
(zero or) three keycards (usual steps). There is no advantage in playing 1430 when playing 4-of-the-suit or Kickback as there is always room for the trump queen ask. 
(5)
Trump queen ask.
(6) As normal, the return to the trump suit denies the trump queen.

(7)
With the ♣Q known to be missing, East settles for the small slam.

And what happened? 4♥+2 twice, 4♥+1 three times, 3NT+1, 7♣-2 and 7♣-3.  6♣ is cold and 7♣ makes if you guess the ♣’s right. You need to ruff just one ♥ to set up the suit.
The bottom lines:

· Use 4-of-the-suit or Kickback as RKCB when a minor suit is trumps – you do not get too high and there is always room for the trump queen ask or a safe king ask.
· The RKCB trump queen ask is used after a 0-3 or 1-4 response. A bid of the next suit (skip over the trump suit) asks for the queen, a return to the trump suit denies the queen and any other bid acknowledges it (I play cheapest king with a no-trump bid for no king).
Pre-empt to the limit




Board 18 from Friday 7th Jan
Dealer:
♠ KJ2



Table A
East
♥ AQ3

West

North
East(A)
South
N-S vul 
♦ AKQ10987

-

-

pass

pass

♣ -


1♥

dbl
(1)
2♥
(2)
pass
pass


3♦
(3)
pass

4♦
(4)
♠ AQ84

N
♠ 1075

4♥


6♦

pass

pass
♥ K9876
W
E
♥ J1054

dbl

redbl (5)
all pass
♦ J

S

♦ 5


♣ KQJ


♣ 98654


Table B

♠ 963

 
West

North
East(A)
South
♥ 2




-

-

pass

pass
♦ 6432


1♥


dbl
(1)
3♥
(2)
pass
♣ A10732




4♥

5♦

pass

pass
5♥
(6)
dbl
(7)
all pass

Table A:
(1)
This hand is too strong for a 2♦ overcall so double first. Double, followed by a suit bid, shows a hand too strong for an initial overcall.
(2)
What did you bid with this East hand A in this week’s quiz? I prefer the bid at table B. 
(3)
So showing a good ♦ hand, too good for a simple 2♦ overcall.

(4)
Knowing that partner has a good hand, this is constructive – a good bid. 

(5)
Anticipating a ♥ lead and partner short in ♥’s, so expecting to make.

Table B:
(2)
This is my answer to question A – pre-empt to the limit.
(6)
Pass is the alternative, perhaps West thought that East had a good hand?
(7)
After some thought. Because of East’s pre-emptive raise North does not know that South has a good hand for ♦’s.

And what happened? 6♦**= twice, 6♦=, 3NT+3, 3NT+2, 3NT+1, 5♥*-3, 5♥*-2 and 3♥-1.
The bottom lines:

· Pre-empt to the limit and bid only once.
· It’s best to play sequence F, 1♥  dbl  3♥,  as pre-emptive and bid 2NT (Jordan) with a sound raise to 3♥ or better.
Dave’s Column


Here is Dave’s 2nd problem this week.
North
South

West

North

East

South

♠ 7432
♠ Q865

-



-

-
1NT
♥ AQJ1085
♥ K4
pass

4♥

all pass
♦ Q
♦ A87

♣ 97
♣ AK43

 

You are North and somehow you end up as declarer in 4♥ (maybe you don’t play transfers?). East leads the ♦J. You need a ♠ trick make 4♥. All will be well if both majors are 

3-2 but can you make the contract if trumps are 4-1?
Dave’s Column Answer




Board 11 from Wednesday 5th Jan
Dealer:
♠ 7432



Book Bidding
South
♥ AQJ1085

West

North
East

South
Love all 
♦ Q

-


-

-

1NT

♣ 97


pass

4♥
(1)
all pass

♠ KJ9
N
♠ A10
(1)
North should transfer of course.

♥ 3

W
E
♥ 9762


♦ K6543
S
♦ J1092
You are North and East leads the ♦J. You need a 
♣ Q1062


♣ J85
 ♠ trick make 4♥. All will be well if both majors

♠ Q865

 
are 3-2 but can you make the contract if trumps
♥ K4

are 4-1. 
♦ A87

 

♣ AK43


If you draw trumps and they divide 4-1, the defenders will be able to force you to ruff ♦’s each time they win a ♠ trick. You will go down unless East has both the ♠AK or the suit lies in a very favorable way.

The solution is to win the ♥A and play a ♠ immediately, take the ♦ force and play another ♠. Accept another ♦ force and drive out the last ♠. Now if a ♦ is returned dummy can ruff (high). You can finally draw trumps and enjoy the long ♠.
And what happened at the Pattaya bridge club? 4♥= six times, 3NT+1, 4♥-1 and 6♠-4. The hand is of course no problem if playing a strong NoTrump as North should transfer and with South as declarer a ♦K lead is most unlikely. 
The bottom lines:

· 4-4 fits are usually great, but you need a good 4-4 fit and points to make a slam; the pair in 6♠ did not get any matchpoints and I understand that they do not wish their auction printed.

· This deal nicely demonstrates why you should play transfers – the lead comes up to the strong hand and is less likely to be through a tenace.
Dave’s  2nd Column

Here is Dave’s 1st problem this week, on defence.
West
East

West

North

East

South

♠ 72
♠ K5

-

-

1♥

1♠
♥ AQ874
♥ KJ1095

2♠
(1)
pass

4♥

all pass
♦ 754
♦ AQ3


♣ K32
♣ AQ7
(1)
Sound raise to 3♥ or better.
You are East, declarer in 4♥. South leads the ♣J, how would you try to avoid losing two ♠’s and two ♦’s?

Dave’s 2nd Column Answer




Board 10 from Wednesday 5th Jan 
Dealer:
♠ J1063



Book Bidding
East
♥ 62

West

North
East

South
both vul 
♦ J108

-


-

1♥

1♠
♣ 8654


2♠
(1)
pass

4♥

all pass
♠ 72
N
♠ K5


♥ AQ874
W
E
♥ KJ1095
(1)
An Unassuming Cue Bid, usually showing a
♦ 754
S
♦ AQ3

sound raise to 3♥ or better.
♣ K32


♣ AQ7


♠ AQ984

 


♥ 3
You are East. South leads the ♣J, how would you try to
♦ K962
avoid losing two ♠’s and two ♦’s?
♣ J109

If you try the ♦ finesse, you should go down. But as long as South has the ♠A, the contract is guaranteed. Win the opening lead in your hand, draw trumps and clear the ♣’s. Then exit with a ♠, playing low from both hands.
Suppose that North wind this first ♠ trick and shifts to the ♦J. Resist the temptation to finesse but instead rise with the ♦A and exit with the ♠K.

South wins and must either give you a ruff and discard or set up your ♦Q.
And what happened at the Pattaya bridge club? Everybody was in 4♥; 4♥+1 twice, 4♥= twice and 4♥-1 five times.
Bidding Quiz Answers
Hand A:
3♥. This is weak after a double from RHO and is what I bid with four ♥’s. 2♥ is not enough for me, especially at this vulnerability. 4♥ is possible I suppose.
Hand B:
This depends upon your partnership agreements, but you need to be able to show 5 ♥’s, 4 ♠’s and a game forcing hand.

With no agreement, many simply transfer with 2♦ and then bid 2♠.
I prefer to bid 2♣ (Stayman) and over a 2♦ response bid 3♥ or 3♠ (if playing Smolen) or 3♦ (if playing Quest Transfers).
Hand C:
1NT. This shows about 15-17 with a ♣ stop. Dbl (because you have four ♠’s) is a poor bid because if partner responds 1♥ then a 1NT rebid by you would show a much stronger hand (about 18-19 points).
Hand D:
6♣ or 7♣. How you bid it depends upon partnership agreements and if you have a mechanism to locate the ♣Q. 4♣ is forcing and it’s best to play 4♣ (or 4♦ Kickback) as RKCB. Bidding 4♥ to play (as the vast majority of the club did) shows little flair.
Bidding Sequence Quiz Answers
E
1♣
1♠
pass
pass
1NT here is strong, about 18-19. It is NOT 12-14 as partner 

1NT



passed and may have very little.
F
1♥
dbl
3♥
3♥ is best played as pre-emptive here…

G
1♥
dbl
2NT

… with the Jordan 2NT to show a sound raise to 3♥ or better.
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